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201 fEt2E | 8,000 0 8,000
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01 A€ HI 34,660 15,000 19,660
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401 Al HIZ 2018 90,000 50,000 40,000
01 A& HI 89,460 49,460 40,000
OLs AtEH E=Z A 10,000,000 * 14! 10,000 0 10,000
O3IA HA=Z A 10,000,000 =14 10,000 0 10,000
O2X s28 ZH3A 10,000, 0003 * 14! 10,000 0 10,000
O=Jte =2 & A=A
10,000, 0003 * 14! 10,000 0 10,000
=QEON @Y A (4H) 271,323 267,403 3,920
FOEN ZO(aA) 163,124 154,204 A1,080
SOUEN FHFA(AH) 51,664 52,744 A 1,080
201 Let2dE] 38,164 39,244 A1,080
01 AFR2teltl 38,064 37,744 320
OXNSAt 2 E N S 4+
20,000& x14H x43] 1,120 800 320
03 &Ar2 I 100 1,500 A 1,400
OZX0l A 100,000 14| 100 1,500 A 1,400
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401 AIEHI L 20 15,000 10,000 5,000
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Odd S=sHHE =8 SEa &X
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HH2IZHI(AH) 249,806 245,086 4,720
Jleddl(&4d) 159,606 154,886 4,720
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201 Zet24E] 115,726 111,726 4,000
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Odld Ag= =2 ZHIZA
25,000,000& » 14| 25,000 0 25,000
Oz 52 2 =2 ZHISAM
15,000, 000& * 14! 15,000 0 15,000
HH2IZH(0LEH) 317,769 310,329 7,440
Jl2Zd(otg) 217,672 210,232 7,440
Jl2dui(otd) 194,202 186,762 7,440
201 ¢er24| 163,442 145,442 8,000
02 3324l 113,514 105,514 8,000
OHM3BALEZE FINEE ===
4,000,000& 23 8,000 0 8,000
202 Oddl 29,800 30,360 A 560
01 =LHOI LI 4,600 5,160 A 560

O3UABI(ZH) 20,000 x14H 108 2,800 3,360 A 560




= A
N = 0l & At & M A
0209 = £ 15 YL Wetg ~ FHS
SN R
I NASH HABH(H)

Sel FE0A TH(27) (29l & 2)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
fAHA 1,040,778 1,013,174 27,604
NAgH LHas () 275,000 215,000 60,000

FF0A 24 (2A) 275,000 215,000 60,000
ARDFU=AAE (2H) 275,000 215,000 60,000

401 AIEHI L 2 CHYI 275,000 215,000 60,000

01 A€ HI 272,678 212,678 60,000

OdtAe Bi+=Z2ZHISA 20,000,000& =14l 20,000 0 20,000

OJXl Hi==Z EHI S At 20,000,000& » 14| 20,000 0 20,000

O2Ec HUZHEISA 20,000,000& * 14! 20,000 0 20,000

=QEN #FY A () 410,062 449,858 A 39,796

=OEA U (RA) 273,326 281,326 8,000

Holod A 0 8,000 8,000

201 fEt2E | 0 8,000 A 8,000

03 A2 0 8,000 A8,000

Omoloy #ASY 0% 0 8,000 £8,000

WHE MESEHA(RAH) 136,736 168,532 A31,796

Hes2g 24(24) 22,290 54,086 A 31,796

101 Q124 H] 0 31,796 A31,796

04 JItNZ22XSE* 0 31,796 N31,796

A2=sg URY 0 31,796 A 31,796

—Jles 0& 0 12,789 A12,789

— WS 0& 0 360 A 360

— =24H| 0& 0 720 AT20

- =54 0 0 5,684 Ab,684

— X4 0& 0 1,541 A 1,541

- 5= 0 0 5,969 25,969

— 428 = 0& 0 3,533 A 3,533

— S E St 0& 0 1,200 A 1,200

HH2HZH(2HH) 335,716 328,316 7,400

Jl2ddl () 232,397 224,997 7,400

2 (fAH) 232,397 224,997 7,400

202 04l 31,800 32,400 A 600

01 SLHOYI 4,800 5,400 A 600

OZUHEI(ZEH) 20,0002 x15H 102 3,000 3,600 A 600

401 AIEBIZ S CHYI 21,000 13,000 8,000

01 A& HI 21,000 13,000 8,000
ON&Z HIIAEEY 8% L ALRL

4,000,000 100 A 23| 8,000 0 8,000




= >
Hl = 0l &F AF & & Al
T =& 13 dbtglH HotsS ~ F=HEH
= e
Mo XGLd HASH(EA)
Sl HEHA XS (HA) SlE)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 =P
596,564 544,840 51,724
H WA (EA) 90,000 50,000 40,000
A ZH(HA) 90,000 50,000 40,000
HE FO=QAMNA(HA) 90,000 50,000 40,000
401 AlEHI 2 20 90,000 50,000 40,000
01 A& H| 89,028 49,460 39,568
Oss0tg s Z&ESA
10,000,000 *98.92/100 9,892 0 9,892
ORH0tE 2tZ HUlISAt
15,000,000 *98.92/100 14,838 0 14,838
OUW=M =2 FUISAt
15,000,000 *98.92/100 14,838 0 14,838
03 Al& 20 H 972 540 432
OARIF0=2AAE ALY
40,000,000 *1.08/100 432 0 432
of 38 AS(HA) 241,381 381 25,000
ol E(EA) 131,618 618 A7,000
QIR0 B =R(HA) 43,968 , 468 A 1,500
201 L2 43,468 44,968 A 1,500
03 B A2 G H 1,500 ,000 A 1,500
00| A o 0 ,500 A 1,500
QIO s A 0 ,500 25,500
201 et A | 0 ,500 A5,500
03 AL G H 0 ,500 25,500
OHoIoY &AL 29 o0& 0 ,500 25,500
WRE MBEHA(HA) 109,763 ,763 2,000
e=2=2g 29 43,800 ,800 2,000
201 LBt 17,654 ,654 2,000
02 B229H| 15,644 ,644 2,000
oxe==2g | 22l 2,000,0008 * 14l 2,000 0 2,000
HYSAAH (HEH) 255,183 ,459 16,724
H2HH (FAH) 114,795 ,195 15,600
HAL M 20,600 ,000 15,600
401 Al&HI 2 200 20,600 ,000 15,600
01 Al&H| 20,600 ,000 15,600
OAz|oal MZE 22 ZAF 10,000,000 14l 10,000 0 10,000
O3Z AI&2S ®I|HEA AL 2,800,0002 23] 5,600 0 5,600
JE23H(HEH) 140,388 ,264 1,124




2A BEH

ot

H: HH2IAH(HEH)

el J=23H(3EdY) (Sl & &)

SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
2B (Z38d) 140,388 139,264 1,124
202 Oddl 25,704 26,280 A576
01 = LH 4 Hi 4,104 4,680 A576
OzUcbI(EZ) 16,0003 x12H «12& 2,304 2,880 A576
405 TtobFH S| 3,700 2,000 1,700
01 AL ESH SH 3,700 2,000 1,700

A

Onlstaa v 2 1,000,000& * 14! 1,000 0 1,000
Oo&JIg #& 700,000& =14 700 0 700




E 0 & AFHE B M A

20208 = =& 1 3] LESH detg ~ i
2M: ZH
g NFedo st
ool BF0A x4 EERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
=dd 772,328 722,400 49,928
ANAgdE Last 140,000 100,000 40,000
FF0A 24 140,000 100,000 40,000
AL FUSIAMNG(FEHH) 140,000 100,000 40,000
401 Al HIZ 2018 140,000 100,000 40,000
01 A& HI 138,920 98,920 40,000
OF& 4| o2 DISHEZA
20,000,000 =14l 20,000 0 20,000
OF& XMAOIES =2 HHISA
20,000,000 =14l 20,000 0 20,000
FOUENH HE 4 323,464 318,964 4,500
FOUEN =20 193,004 193,504 A 500
SUEAEH FA(FHE) 44,704 45,204 A 500
201 ¢er24| 44,204 44,704 A 500
01 AF2 22l bl 42,704 41,704 1,000
OXNGAEHE AN 2 1,000 0 1,000
—NAMIEHE AN A] &Y
20,000& x10H »43] 800 0 800
— NS AM2HE2AM 22 H 50,0003 42 200 0 200
03 AH2 I 1,500 3,000 A 1,500
OYS0l &AL 0& 0 1,500 A 1,500
WG MEEH 130,460 125,460 5,000
2358 28 N 49,051 44,051 5,000
401 Al HIZ 201 I 5,000 0 5,000
01 A& HI 5,000 0 5,000
OSLAN2==EY H2LHISAM
5,000,000& 14| 5,000 0 5,000
HY2IZH (FEH) 298,864 293,436 5,428
Jl=&l 201,696 196,268 5,428
2zl (=8g) 181,016 176,488 4,528
202 44l 38,088 38,760 AB72
01 S LHOIYI 4,488 5,160 NBT2
OZUHEI(EH) 16,0003 x14F «12& 2,688 3,360 ABT2
401 Al HIZ 201 I 5,200 0 5,200
01 A& HI 5,200 0 5,200
OHM3E AdES FIIAEEHA 2,600,000& 23! 5,200 0 5,200
HYSERZ 22 (=) 20,680 19,780 900
405 TtobFH SHI 7,040 6,140 900
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